
1. A rectangle has an area of 16 square inches.  If the 

width is of the rectangle is 2, find the length.
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2. A rectangle has an area of 
10𝑏

6𝑏−6
square inches.  If the 

length of the rectangle is 
𝑏+2

2𝑏−2
, find an expression for the 

width of the rectangle.



Objectives Add and Subtract rational expressions

Homework Workbook page 227: 6, 12, 14, 26, 27, 28

Identify any restrictions that apply to 

a given rational expression



Homework…



Homework…



Homework…



Remember your middle school math days…

𝟑𝟓

𝟒𝟓
+

𝟒

𝟒𝟓

If we want to add fractions, they must have the same what?

DENOMINATOR

=
𝟑𝟓 + 𝟒

𝟒𝟓
Not a 

problem

=
𝟑𝟗

𝟒𝟓

𝟑

𝟑𝟓
+

𝟐

𝟏𝟒
Problem

=
𝟑

(𝟓)(𝟕)
+

𝟐

(𝟐)(𝟕)
Lowest Common 

Denominator

𝟓 × 𝟕 × 𝟐

=
𝟑(𝟐)

(𝟓)(𝟕)(𝟐)
+

𝟐(𝟓)

(𝟐)(𝟕)(𝟓)
=
𝟔 + 𝟏𝟎

𝟕𝟎
=
𝟏𝟔

𝟕𝟎

Rational Functions work the same way!



𝑬𝒙𝒂𝒎𝒑𝒍𝒆:
𝟐

𝒏 + 𝟒
+

𝒏𝟐

𝒏𝟐 − 𝟏𝟔

Adding Rational Expressions

1. Factor the denominators

=
𝟐

𝒏 + 𝟒
+

𝒏𝟐

𝒏 − 𝟒 𝒏 + 𝟒 2. Find a common denominator.

3. Multiply each fraction by what’s missing 

from the common denominator.

=
𝟐

𝒏 + 𝟒

𝒏 − 𝟒

𝒏 − 𝟒
+

𝒏𝟐

𝒏 − 𝟒 𝒏 + 𝟒

=
𝟐(𝒏 − 𝟒)

(𝒏 − 𝟒)(𝒏 + 𝟒)
+

𝒏𝟐

𝒏 − 𝟒 𝒏 + 𝟒

=
𝟐 𝒏 − 𝟒 + 𝒏𝟐

(𝒏 − 𝟒)(𝒏 + 𝟒)
=
𝒏𝟐 + 𝟐𝒏 − 𝟒

𝒏𝟐 − 𝟏𝟔

4. Simplify and combine into one fraction



𝟏𝟑.
𝟒

𝒙𝟐 − 𝟐𝟓
+

𝟔

𝒙𝟐 + 𝟔𝒙 + 𝟓

Adding Rational Expressions

=
𝟒

(𝒙 − 𝟓)(𝒙 + 𝟓)
+

𝟔

𝒙 + 𝟏 𝒙 + 𝟓

You Try

=
𝟒

(𝒙 − 𝟓)(𝒙 + 𝟓)

𝒙 + 𝟏

𝒙 + 𝟏
+

𝟔

𝒙 + 𝟏 𝒙 + 𝟓

𝒙 − 𝟓

𝒙 − 𝟓

=
𝟒(𝒙 + 𝟏)

(𝒙 − 𝟓)(𝒙 + 𝟓)(𝒙 + 𝟏)
+

𝟔(𝒙 − 𝟓)

𝒙 + 𝟏 𝒙 + 𝟓 (𝒙 − 𝟓)

=
𝟒 𝒙 + 𝟏 + 𝟔(𝒙 − 𝟓)

(𝒙 − 𝟓)(𝒙 + 𝟓)(𝒙 + 𝟏)
=

𝟒𝒙 + 𝟒 + 𝟔𝒙 − 𝟑𝟎

(𝒙 − 𝟓)(𝒙 + 𝟓)(𝒙 + 𝟏)
=

𝟏𝟎𝒙 − 𝟐𝟔

(𝒙 − 𝟓)(𝒙 + 𝟓)(𝒙 + 𝟏)



𝑬𝑿:
𝟑

𝒙 − 𝟐
−

𝟕𝒙 + 𝟑

𝟑𝒙𝟐 − 𝟓𝒙 − 𝟐

Subtracting  Rational Expressions
Same process, just watch the signs 

when you combine the numerators

=
𝟑

𝒙 − 𝟐
−

𝟕𝒙 + 𝟑

(𝒙 − 𝟐)(𝟑𝒙 + 𝟏)

=
𝟑

𝒙 − 𝟐

𝟑𝒙 + 𝟏

𝟑𝒙 + 𝟏
−

𝟕𝒙 + 𝟑

(𝒙 − 𝟐)(𝟑𝒙 + 𝟏)

=
𝟑(𝟑𝒙 + 𝟏)

(𝒙 − 𝟐)(𝟑𝒙 + 𝟏)
−

𝟕𝒙 + 𝟑

(𝒙 − 𝟐)(𝟑𝒙 + 𝟏)

=
𝟑 𝟑𝒙 + 𝟏 − (𝟕𝒙 + 𝟑)

(𝒙 − 𝟐)(𝟑𝒙 + 𝟏)
=
𝟗𝒙 + 𝟑 − 𝟕𝒙 − 𝟑

(𝒙 − 𝟐)(𝟑𝒙 + 𝟏)
=

𝟐𝒙

(𝒙 − 𝟐)(𝟑𝒙 + 𝟏)



𝟗.−
𝟐

𝒏 + 𝟒
−

𝒏𝟐

𝒏𝟐 − 𝟏𝟔

Subtracting  Rational Expressions
You Try.

= −
𝟐

𝒏 + 𝟒
−

𝒏𝟐

(𝒏 + 𝟒)(𝒏 − 𝟒)

= −
𝟐

𝒏 + 𝟒

𝒏 − 𝟒

𝒏 − 𝟒
−

𝒏𝟐

(𝒏 + 𝟒)(𝒏 − 𝟒)

=
−𝟐 𝒏 − 𝟒 − 𝒏𝟐

(𝒏 + 𝟒)(𝒏 − 𝟒)
=

−𝟐𝒏 + 𝟖 − 𝒏𝟐

(𝒏 + 𝟒)(𝒏 − 𝟒)
=

−𝒏𝟐 − 𝟐𝒏 + 𝟖

(𝒏 + 𝟒)(𝒏 − 𝟒)
= −

𝒏𝟐 + 𝟐𝒏 − 𝟖

(𝒏 + 𝟒)(𝒏 − 𝟒)



WORK ON YOUR WORKSHEET

ON WORK BOOK PAGE 229
DO PROBLEMS 1 AND 3 FOR ME TO CHECK

WILL COUNT AS A QUIZ GRADE.

TURN IN ON A SEPARATE SHEET OF PAPER.


